32. The number of solutions of.sin~! x + sin~!(1 + x) =cos ™! x is/are :
(a) O ) 1 (© 2 (d) infinite



sin 11 + x) is defined for x <0 and sin~! x -;;-'- ~cos ' xV-15x251

The given equation Is sin™! x + sin (1 + x) mcos~! x

which can be written as

E_cos'l
3

r-cos~'(1+x)m2cos™! x

cos ™! (=1-x) =2n —cos~1(2x? - 1)

cos™1(=1-x) +cos™ (2x2 - 1) m27

08} (-1-x) =cos ™! (2x3 =) m

-1-x=2x? -1=-1

x=0 | .

which implies that the total number of solutions sin ™ x + sin ! (1+ x) =cos ! x is only one.

n _ ‘ y
X+ 2 = cos 11+ x) mcos™! x
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